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3)
SECTION - I
gug — |
CHILD DEVELOPMENT AND PEDAGOGY
1 frenTa ue forememes

There are 30 questions in all in this section.
All questions are compulsory.

o T @UE A PoA 30 TH B |

o st s T 8 |
Which of the following condition promotes adjustment ?
(A) Acute anxiety (B) Obsessive thought of guilt
(C) Fear of illness (D) Free from neurotic fears and anxiety
frferfaa & @ o =t fefa auresy Sl sgar et @ 2
(A) s fa=m (B) 3T9UY 919 < R § LA @
(C) = s (D) Taferea w3k faan @ gfea
Signs of gifted child are :
(i) Novelty in expression (i) Curiosity
(i11)) Talkativeness (iv) Hyper-activeness
(A) (i) and (iv) (B) (i) and (ii)
(C) (ii) and (iv) (D) (iii) and (iv)

TeTeh % ALV FT 8 ?

() Afreafea 4 Tegar (i) g
(iii) aTaterTa TR (iv) faefsharar
(A) (i) 3T (iv) (B) (i) 3T (ii)
(C) (i) 3 (iv) (D) (iii) 3 (iv)
Who gave the formula of 1.Q. written below ?

) : Mental age
Intelligence Quotient = Chronological age x 100
(A) William Stern (B) Terman
(C) Binet (D) Galton
Sfiz wife 3 fore Freaferfaa wrjen e feom 7

A 31Y

Tgﬁg RIS 5 e x 100
A) Taferm = (B) <
©) fw (D) e
Creativity is usually associated with
(A) Hyperactivity (B) Low comprehension
(C) Convergent thinking (D) Divergent thinking
GoTeshdT ged: fored Trafa 2 7
(A) SAfqafsparar (B) U ST
(C)  fepr ferma (D) 31w famm

P.T.O.
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“Learning is a process of progressive behaviour adaptation.” This statement was given by
which educationist ?

(A) Skinner (B) Woodworth

(C) Crow and Crow (D) Gates and others

TG SHEER H TR TTHR <hl Ueh UTshaT & | I8 e foher fremfere o g feam mn 2
(A) TR ORiC] (B) g

(C) FTEH et (D) Tew wE 3=

Srishti is the student of class two. She was taught basic mathematics by the teacher. Next
day while shopping she pointed out the mistake in total done by shopkeeper. Which type of
learning is this ?

(A) Negative transfer (B) Positive transfer

(C) Bilateral transfer (D) Zero transfer

HET — 2 I BT FIE FI AR = T TG T o T HEH, I e 39 TR §
T T  STUT GHMGR GRIT <hl TR AT 3 et b fafed Hich Hal shiam | I8 Tferm
T I T TSR R ?

(A) TERICHS T (B) HhRIcHS Tl

(C) fguafia e (D) I TR

Two opposite desires present in an individual at the same time is called
(A) Conflict (B) Frustration

(C) Anxiety (D) Pressure

Teh Ao H Ush THI W 4l 9N TSI 1 BT haeATdl &

(A) T% (B) Fal

(C) fumm (D) &=

Ravi’s intelligence test indicates that he is in category average to above-average of
intelligence. However, his grades in reading, spelling, social sciences and science are very
low. His Math’s grades are quite high and writing skills are adequate. Ravi most likely has
(A) Dyscalculia (Maths Disorder) (B) Dysgraphia (Writing Disorder)

(C) Dyslexia (Reading Disorder) (D) Dysphasia (Language Disorder)

T o1 gfg wherr i svtar 2 o6 a8 3fiea @ oo, 3ttaa @ 1fres gfgmar it soft § smar g |

BT T, -, TraTioreh fas 3R fosm & 36eh U 9gd %A & | 3Heh TTUTd o U Ikt
Jferen 8 | e oee hivrel 0 31 8 | o o s aeamaar 2

(A) TeThegpieran (i & wwsiterd faenfa)

(B) femmithan (vraw @ Tl faspfa)

(C) Teucifaaan (Te- & wwityd faefd)

(D) feawisEn (Fe- & Fwlea faepha)
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10.

11.

6

Choose the example that illustrates intrinsic motivation.
(A) Vandana is working hard to score well in exams as she wants a gift from her parents.

(B) Urmila is completing her homework so that she can watch TV after completing her
homework.

(C) 1la is reading more books so that she can secure first rank in District and her school
get fame at District level.

(D) Megha is exploring various resources for her project because she loves learning new
things.

ﬁﬂ%ﬁ@ﬁgﬁﬁwmwwﬁﬁuﬁmﬁmaﬁﬁwaﬁmﬁ%:

(A) IweT TheT T 3728 37eh IT i o foT¢ Shalk Iiem o &t & e a8 310 wrar-foar o
I T L T |

(B) 3ffelt werwhe Teehrl THTS S T § Fifeh Tehrd T hieh a8 1.t ¢ Tehl |

(C) 3oi1 5igd | Jedish U T&1 & iifeh o8 el & 9o T et e ferarmerd ot = fet
TR TR UL BT I 2 |

(D) T 39 qRESHT i % forg fofi= Sia dermy @ 2 Hife 98 75 TR aed e |
@ g |

Who among the following has not propounded the learning theory ?

(A) Thorndike (B) Skinner

(C) Kohler (D) B.S.Bloom 3
o 1 & e atferm fagr=a w1 widme =& e ¢ [=lF:
(A) 9HETsH (B) ferm

(C) iR (D) «I.TH. |

Which of the following theory is also known as theory of reinforcement ?
(A) Operant conditioning theory

(B) Stimulus response theory

(C) Classical conditioning theory

(D) Theory of insight

=1 5 @ fope frgT=a =1 e 1 fagra S ped € 7

(A) TsRamEe 3tge-H g

(B) ek Irgfokan fagr=

(C) T e g

(D) Fr=gfe g

P.T.O.
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According to RTE Act, 2009 working hours per week for teachers are

(A) 40 hours (B) 42 hours
(C) 45 hours (D) 48 hours
I3, rffrm, 2009 % 1R fremepi @ fow g gware wm & fFeifa =2 8
(A) 40%R (B) 42°7%R
(C) 45% (D) 48
Which among the following is different from the characteristics of a Good test ?
(A) Reliability (B) Validity
(C) Objectivity (D) Aptitude
=1 5 @ i o1 ek 3o wern Y fomwansti @ = 2 7
(A)  ToraeHiar (B) o
(C) a&qiEa D (D) firegmar
=¥
Which of the following is most important in learner centered curriculum ?
(A) Teacher (B) Child
(C) Contents (D) Environment
Torereff Shfga ureashn § fr=forfad & & i de@ Tewyel 2 ?
(A) JHFUh (B) d=m
(ORRELREES| (D) ST

Repeatedly asking children to engage in learning activities either to avoid punishment or to
gain a reward will

(A) Decrease extrinsic motivation
(B) Increase intrinsic motivation
(C) Would encourage children to focus on mastery rather than performance goals.

(D) Decrease children’s natural interest and curiosity involved in learning.

TR-FR S ] G § T AT 3 I o To1C HGH 3hi TR H et B o 7T heT ol

LRURIE S

(A) 3Teh! STEL) 0T hl 7 HLAT R |

(B) 3ehl 3AT=T1{eh JTUTT <hl SIGTAT 2 |

(C) =i ol Aed TeuH i I HERY FIRASA i o Ui & Hfgd i o fofw Mefea
H R |

(D) =t <hl SThfereh & SR T | et g 1 = i 69 a2 |
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16.

17.

18.

19.

)

Action research means

(A)
(B)
©)
(D)

A longitude research.

An applied research.

A research initiated to solve an immediate problem.
A research with socio-economic objective.

ToraTcreh ST7EY™ &1 319 &

(A)
(B)
©)
(D)

Teh e TgEu | oI
Th SFIIH FTEYH | s
Teh Y19 FTEd doshlel ST ohl et Tohall ST Eeh |

HTATTSTeh - 3Tk 322 o 1 Ueh MY |

According to NCF 2005, the role of a teacher has to be

(A)
©)

Permissive (B) Facilitator
Authoritative (D) Dictatorial

NCF 2005 % 3{HR, T freres o yftrest g9 =iz

(A)
©

3T (B) gfaurera
aTTferehTies (D) ANTRIE

The purpose of evaluation is

(A)
(B)
©)
(D)

To label children as slow learner and gifted children.

To identify children who need remedial measures.

To diagnose learning difficulties and problem areas.

To provide feedback on the extent to which we have been successful in imparting
education for a productive life.

HeToh 1 Ie7 T8I 8 7

(A)
(B)
©)
(D)

=1 1 g Toremeff 3 feumemeft s o &9 # 3ifeha & forw |

37 I I UgEH A o foC =g STIRY 3UT hi 3TTawareha € |

HigH 61 hieTsdl 3T THEI & &1 FHEH & forg |

39 HH1 T TS TEH AT &l deh & SATCRIE Sfiar o 1T, FR1e JeH i § 9% 1§
g

A Reflective teacher creates classroom situations for students to

(A)
(B)
©)
(D)

Listening the lecture.

Taking notes from the lecture of the teacher.
Maintaining classroom discipline.

Promoting interaction between students and the teacher.

e Terasfict fRreres sher-pet 1§ Ut gitfeufa 3ca— otar 8 o v

(A)
(B)
©)
(D)

ST G T |

HeTT-hed H TeTeh o SATETH o T8 of T |
HeIT-hel T SFTIIAMEH §1 T |

BT 3R freres & ureaiie 37=a:foram 1 Tieame firet |

P.T.O.
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Development proceeds from to .

(A) General — Specific (B) Complex — Hard
(C) Specific — General (D) Simple — Easy
ferepma il 1 IR T 3 |

(A) T - fafars (B) Sfeet —whfea

(C) Tafsre —amm= (D) TR TEH

Match the following Principles of Development with their correct description :

Name of Principle of Development Description of Principle
(1) |Proximodistal trend (a) |Head to Toe Sequence
(2) |Cephalo-caudal trend (b) |Different children develop at different rates
(3) |Inter-individual Differences (¢) |In a single child, the rate of development
can vary from one domain of development to
the other
(4) |Intra-individual Differences (d) |Growth from the Centre of body to outwards
H @ 6 @
@A) @ @ @b (© D]
B @ ® (© @ e

© © @ b (@
M @ ® @ (©
frfeiaa foshm o fagT=ii o1 3o T2 9uH § e Hife

T & fagra 1w g s avH

() oo —quimafen (@) [fRaRwwm

(2) |fer — werfinge feam (b) |fofr o= - @A aed @ |

(3) |3radaferen fiy=amd (c) |fortht weh 5= 1 forepr® <Y <X, forsht® o weh &1 <ht 3muam
TELE =T B Eehd1 7 |

(4) |stqudafae fmad |(d) | vt S Hg @ S A IR alg

Hn @ G @
A) (d @ @b (©
B) (@ ((b) (© (@
© © @ b (@
D) @ b @ (©
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22.

23.

24,

25.

®

occurs when there are orderly and progressive changes in a human being due to
maturation and experience.
(A) Growth (B) Development
(C) Physical changes (D) Mental changes

T FHaT AT Eht 8, T IR 3R 39T o HRU G § shHEg IR Tfaeiiet
TitEd B ¢ |

DL
(A) dfg (B) ferepr ot
(C) T geama (D) WG qied
Which of the following is not a characteristic of early childhood ?
(A) Pre-Gang age (B) Imitative age
(C) Questioning age (D) Toy age
frfetfaa o & i €t s 6 fasivar 72 8 7
(A) STH-2Iel 3 (B) ATHTIT 311
(C) TETA i i 31 (D) Taei 3mg
The Nature and Nurture debates refer to
(A) Genetic and Environment (B) Behaviour and Environment
(C) Environment and Biology (D) Environment and Upbringing
SRI T Tt fererg freferfiad o @ fored wafa B ¢
(A) IR TS aTaTeT (B) SIER Td ATATeRY
(C) aTaATaYT T SHafeas (D) STATSRYT Ue YTed= ~aT§oT

Which of the following statement or statements is/are false ?
(a) Itis not necessary to understand that each child is unique.
(b) The child develops as unified whole.
(c) Any problem in one aspect of development is likely to affect the others.
(d) Development is a sequential process.
(A) (a),(b)and (c) (B) (b) and (c)
(C) (c)and (d) (D) Only (a)
frefetfiaa o & o @1 a1 i 8 o E B/8 7
(a) I8 THSET &0 T8 & T T = Afgdfia ? |
(b) ST U Thichd U % &9 § fohfard BraT 2 |
(c) Torenm o Ueh uge] H forelt wme <hi Gl o1 THTTd i <hl ERATEHT BI 2 |
(d) Torepra e ITsRde ufshan 2 |
(A) (a), (b) 3R () (B) (b) 3R (c)
©) (03 () (D) T (a)
P.T.O.

B
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Schools should cater for individual differences to

(A) Make individual students feel exclusive.

(B) Narrow the gap between individual students.

(C) Not to assess the abilities and performance of students.
(D) Understand why students are able or unable to learn.

TR ol AT (AT T LI TG AT FiTeh

(A) T B I TIRTE HEgy HEH g |

(B) ®THAI % s o 3T %l HH L 2] |

(C) BT Ue BETSAT hl &HaT3Tl 3N Y3 bl T ST & fera |
(D) THZ % e fop o dies d andf a1 sEmd =B R & |

A child of 16 years age, scores 75 in 1.Q. test. His mental age will be years.

(A) 8 (B) 14

(©) 15 (D) 12

16 9 3T 1 =1 gfg A Theqor § 75 37 U hAdT 8, ITh! ARG 3 9@
Bl |

(A) 8 (B) 14

(©) 15 (D) 12

Each person’s work is a reflection of certain abilities, in performing any particular task, a
person selects some of his mental abilities as a model. This principle was given by

(A) Thorndike (B) Thurstone

(C) Gilford (D) Thomson

i ST 1 BT T AT o STt g 2, Fe faR o v 1 e s

T TH{Y Ararat § 8 $ 1 Tfaest o €9 H g™ L oidl 7 | I8 fagea foeem feam 7

(A) 9HeTsH (B) dHeA

(C) Tre®re (D) UHEA

Which of the following is projective technique of personality measurement ?
(A) Rating scale (B) Observation

(C) Interview (D) Thematic appreciation test

= o @ o it =faac e < e fafr g 2 mam
(A) Frafor g G BEERICT o
(C) HIEATEhR (D) U TIIVT G0

1.Q. of a talented child is

(A) 130 (B) 140

(C) 55 (D) 120

gfuTeTTeht STeTeh i gfg ey Bt &

(A) 130 (B) 140

©) 55 (D) 120
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31.

32.

33.

34.

3S.

36.

37.

38.

an

wug - 11

YT -1

Ell

3 QIS H HoT 30 TH 7 |
¥t we SrfEr § |

TSIl 1 & Tfireafad v & :
(A) G SR ST | (B) ot 3w |
(C) s 37 forem | (D) Y& R ST |
IR fohg WTST Hivel & TEfla & 7
(A) ZEu (B) d=H -
(C) ot@A (D) dreA o
Tereme (fepte i) forg yeer <t s1ferm gmmfi 2 2
(A) 989 grft (B) 5% Tt
(C) T¥F-%e |t (D) %3 wrft
TS ST o ST § wftrferd 7€l 2 -
(A) TS e | (B) &9 e |
(C) T e | (D) fasm e |
T a0
(A) 3TEIE IR (B) faroan
(C) 3fua eafv i (D)  3rETvTierehal
Hifkgeh HeATehd o Haegl H IR HoH & :

(A) TiRaes gedie ¥ <rESTi I97 I8 94 ¢ |

(B) TiRaeh qeATehehal (HETaH, Feeicl 3R faws fesms g =fe |
(C) WiRgeh gourerd H THgEdT 31feh g1 afe |

(D) Tifaeh gexie ¥ forameff o6t sramfireafad o sraer %0 firem =1fev |

“HeaTeh 3gewal <h! TTfed <ht EfimT w1 Ty o6 <1 Wfsharm B |7 Hourieh b1 arg g femersh!
87

(A) HIgHicTE (B) #.&. Ta
€ =M™ (D) TSN
ferameff <t Hig wsieh SwisTgal 1 g T 5T HEE T Frelt e wHeera 2
(A) qew foregm (B) &ATeh fretur

(C) 3vg e (D) S9=IcHe f3reqor
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39. Had Udl SATTeh Yelieh 1 Q19 8 :
(A) e ferenfiet o R qeien a1 & R |
(B) Terernfeit =1 sroeft il o1 Pt S S e 2 |
(C) 3aH FAfrvTeehi w1 feremeff < faw wrfe shi Sieerr it et @ |
(D) =g yorredt et S <t ST Hehelt g Srel feremmeff-firerh Stama wvu & |

40. 3vcifey weror o o & fopan wel sty fpan SaT B 7

A) @ (B) = &

©) (D) =R s
Fr=forRaa ey & YR W T @1 41 | 45 TF & ST N

A 1 74 T Tiasiicl a1 g | W g g fob foeht wifeaat 38 st o et € | s
AT T4 <l fordia aftferforni § S1ae o6t ootet & @eT el W@ Tehd 371 30 9T o |1 §8 I1d &, o
v} 3T I I T B HehAl | Ik ToTT A1 I8 a1 =TT foh o Sfifad wd g e & auH € | 71
1 SFereRy a1 Gt Bl geredl ® | S safe @ ud aRiRfa o wme o 2, 9t e T8 3e1 Fena
AR HlSTgAT < sfter ot JToAT TEAT oIt S 8 | SO SRt o 3Heh forded 3R gfva wme @ ot
SO T TI hid & | Afehd, TH T <t it Te fireit S 3Tt meies | S B 3 § TR U
HH R S3d 8, T8 37 wifawa Sfam & arenifa 1 fow ot ST 2 | 9o 379 & Sfed § 3eew
BT =T | AT G hiE 3w T B, A GH Th T ERT | T HAN 7’ 38T TR ST TTITEh
2 | 3TeYIEN A TorT Ueia bl ATel <hl 7HE § |

41. ‘HeI' v o GE giy-foeae B

(A) "G+ (B) ®el+Ud
(C) WE+ud (D) el +Td
42. Tfafga d @ Tow’ e &1 w=iHar s @ -
(A) 99 (B) 3uid
(©) 3t (D) A
43. ‘Tl vrse o1 foretim @
(A) dTEh (B) 3raqe
(©) ¥4 (D) &HY
44. TR H TR TAIGET YIg & SRR R
(A) T HEI | (B) T W EIM |
(C) HAH eI | (D) | ! femm |
45. ‘AT YK R :
(A) 3I=IF (B) TadT=eh TSl

(C) STfcerr=res &1 (D) SATFTaT=H T
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FrfeTiaa et < STTER T e ST 46 8 50 Teh o S ST :

39 W, I T S8 16 9 3R Wb TERIA — 7 AHI b TfEferd €9 F TP T WEI S+l
8 | yfi < Hiflges w9 3R wgfg o S Ferd BT gHIT hded @ | S Uit geeft < wrer &t 7 g,
g e Bt 2 | Gt |1an bl i o W svged fift sl uh ¥, 378 o ol og gy e § |
HIGH T T8 T STel HfSd Y 1 GO 3T € | 39k SHRVT & el ATqyfH o T ITed L 2 |
9ot AT & 3R 59 T 31901 # 42l &1 9 ¢ | T8l I8 WG 5 8, Fal 5 SR qH 1 g6 I
3R ST &1 &1 & | 71T 379 96 g1 ol THE W6 & =redt 8 | 39 YR 9ot | o aret avt 5=
T & | ITH 9 3 A 1 91 T8 8 | I T 37h YHR hl YN e d1el 3T 3 guf !
A a1t &, TRt I A S g3 8 | mrm
46. ‘I BT AL R G

(A) fEh I gea T 7 |

(B) forereht e wgd A A |

(C) T5&eh! 7o oA & i 7 |

(D) Tesht e 7 3ifert 51 &6 |

47. ‘FIRET wrse %1 Teha= BN :

(A) Heft (B) Hifu
(©) ffy (D) faeft
48. “3 o T gt ATl <t ET T A R |7 IR H B A HA R 7
(A) BT ufesy (B) HM= 99
(C) dfee gau (D) 3TE= ¥
49. ‘NI A< :
(A) e (B) TEEHcT
(©) gfeem (D) 3wIfem
50. ‘3T 3Ieg o1 U 31 7
(A) ffwea (B) UHA
(C) =fhd (D) fsfia
51. 9T % fohad ST HAH TR ?
(A) =X (B) Th
€) @ (D) o=
52. TS % TR YT 97T 1 TR 2
(A) Taemneds st (B) ehddred IR

(C) HYd ao (D) WTEET= J1
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SECTION - 11
LANGUAGE -1
ENGLISH

There are 30 questions in all in this section.

All questions are compulsory.

‘Learning is made stable and everlasting’ is a merit of
(A) Bilingual Method (B) Structural Approach
(C) Direct Method (D) Communicative Approach

‘Priority of Reading’ is a principle of

(A) Translation cum Grammar Method [
(B) Dr. West’s Method jE! "
(C) Structural Approach

(D) Communicative Approach

‘It stops power of thinking freely’ is a demerit of
(A) Bilingual Method

(B) Direct Method

(C) Translation cum Grammar Method

(D) Substitutional Table Method

Bilingual method includes
(A) Translation by teachers only to explain the matter.

(B) Insistence upon reading only.
(C) Insistence upon writing only.
(D) Optimum exposure for discussion.

The receptive skills comprise
(A) Listening and Reading (B) Listening and Speaking
(C) Reading and Writing (D) Reading and Speaking

Writing is more complicated skill because of

(A) its variety of fields.

(B) its last position.

(C) 1its inclusion of other subjects.

(D) graphic representation and presentation of structured thoughts.

P.T.O.
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Language games help
(A) toimprove speech (B) to build structures
(C) to build vocabulary (D) to learn grammar

Assessment of broad learning behavioural outcomes is a feature of
(A) CCE (B) Peer Evaluation

(C) Formative Assessment (D) Summative Assessment

Which one is not a characteristic of Peer Evaluation ?

(A) Effective monitoring (B) Metacognition

(C) Saves teacher’s time (D) Faster feedback
i

Cloze Test Evaluation was described by [m]¥

(A) C.J. Dodson (B) Woods

(C) W.L. Taylor (D) Roberts Paul

Passage (For Q. Nos. 41 to 47) :

The messenger had no idea what all this was about. If King Avinash meant to attack his

king’s fort then all was lost. For King Bahadur was old and weak. These days he spent most of

his time in prayer. After much thought the messenger decided on a plan. “Sir, I do not know

why are you so angry,” he said. “All I know is that King Bahadur has gone mad. I cannot work

for him anymore. I had decided to the court and work elsewhere. If you will take me in I will

gladly work for you, my lord.”

41.

42.

43.

The synonym of ‘attack’ is
(A) war (B) dispute
(C) invade (D) conflict

The synonym of ‘mad’ is
(A) sick (B) insane
(C) nervous (D) sensible

The antonym of ‘angry’ is
(A) sharp (B) infuriated
(C) calm (D) peace
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44.

45.

46.

47.

)

The one word substitution for ‘old and weak’ is
(A) infirm (B) sick
(C) humble (D) polite

The correct noun form of ‘decide’ is
(A) decade (B) decided
(C) decision (D) deceive

The correct verb form of ‘lost’ is
(A) loose (B) lose
(C) loss (D) lest

The correct spelling is
(A) patiritism (B) partritism
(C) patriotism (D) potriotism

Passage (For Q. Nos. 48 to 54) :

Being free filled me with happiness. Now that my chains had been removed, I could see

the capital city. Everyone was ordered to stay indoors in case I stepped on them and they got

crushed. The first building I saw as I stepped over the city wall was the Emperor’s palace. It was

charming just like a big doll’s house. I had to lie down to look inside and as the Empress came

to the window smiling at me, she gave me her hand to kiss.

48.

49.

50.

S1.

[CIky{0]
Which part of speech is ‘Happiness’ ? b
(A) Adjective (B) Noun
(C) Verb (D) Adverb

‘The Empress came to the window smiling at me.” Here ‘smiling’ is
(A) Noun (B) Verb
(C) Adjective (D) Adverb

‘Being free filled me with happiness.” The sentence is in

(A) Present perfect (B) Past perfect
(C) Pastsimple (D) Present simple
‘I had to lie down ...."” The sentence is in

(A) Past simple (B) Present simple
(C) Past perfect (D) Present perfect

P.T.O.
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....... she gave me her hand to kiss.’ In this sentence the determiner used is
(A) she (B) her
(C) to (D) me

‘It was charming just like a big doll’s house.’ In this sentence the determiner used is
(A) just (B) like
©) a (D) big

‘Freest’ is the superlative degree of
(A) fire (B) freer
(C) firer (D) free

The farmer fastened the bull tightly to the stake. The correct question for this is
(A) What did the farmer do ? (B) What does the farmer did ?
(C) Why did the farmer did ? (D) Why does the farmer did ?

To free the slave, the chains

(A) being removed (B) had been removed ESE
(C) isremoved (D) was being removed — [E#
The convict by the neck till death, was the verdict.

(A) 1isto hanged (B) is being hung

(C) 1isto be hanged (D) isto being hang

‘She said to her son, “What do you like ?”” The indirect speech of the sentence is
(A) She asked her son to like.

(B) She asked her son what will he like.

(C) She ask her son what he liked.

(D) She asked her son what he liked.

The phonetic sound of the letters underlined in the word ‘together’ is represented by the
symbol

(A) d (B) 6
© = (D) d3

Which is the correct transcription of ‘question’ ?
(A) ‘'ku:s Jon (B) 'kwestfon
(C) 'kwu:ln (D) 'kwuschn
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A T80T T T IL9T TH A BT B :

(A) Torenefi % =agR & uftgdd & |

(B) et -ufsteronieian o sragR o uftad= T |
(C) TEAT I % TR T IREdH LT |

(D) faeped (A) 3R (B)
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SECTION-III
LANGUAGE-II
ENGLISH
There are 30 questions in all in this section.

All questions are compulsory.

61. ‘To avoid talking about what is important’ the idiom/phrase which best expresses the
above meaning is

(A) Hit the sack (B) Up in arms
(C) Beat around the bush (D) Sell like hot cakes

62. Choose the correct phonetic transcription for the given word : ‘Thin’

(A) i/ (B) /6m/
(C) /on/ (D) /dei/ @5
ol
63. Which of the following contains the same vowel sound ?
(A) tell —bell —cell (B) know —now — bow
(C) put-—cut—cute (D) All of these

64. Find out the word which begins with different sound from other given words :
(A) High (B) Hike
(C) Hire (D) Beat

65. Choose the correct phonetic transcription for the underlined sound of the word : Call
(A) /knM/ (B) /ko:l/
(C) /keel/ (D) /keml/

66. Which statement is not correct about communicative approach ?
(A) Itis practical in use.
(B) It is situational, meaningful and self-rewarding.
(C) It develops the speech ability.

(D) Itis teachers centered approach.

67. In structural approach the word ‘structure’ relates to the structure whereas ‘approach’
stands for

(A) Going away (B) Coming near
(C) Sincere (D) Intelligent
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69.

70.

71.
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The teaching which is needed for the students who are in general backward in studies and
fail in one subject :

(A) Remedial teaching (B) Advance teaching
(C) Classroom teaching (D) None of these

The process of finding out the extent to which the desired changes have taken place in the
pupils

(A) On line lectures (B) Evaluation
(C) Co-curricular activities (D) All of these

An important part of any evaluation in which the teacher should prepare a record sheet for
each student indicating the different skills to be tested is

(A) Record keeping (B) Notice book

(C) Class teacher diary (D) Monthly attendance
Which one is not a type of digital portfolio ? E5E
(A) Developmental (B) Reflective (=7
(C) Representational (D) Occupational

Passage (For Q. Nos. 72 — 78)

Non-biodegradable plastic is one of the prime targets of environmentalists across the

world, but, we, too can make a difference — by spurning that plastic bag for cloth, by buying our

aerated water in glass bottles instead of plastic, by demanding glass milk bottles instead of

plastic pouches, by using that sheet of paper on both sides, by recycling vegetable waste and tea

leaves as manure. The media can also play an enormously significant role in this respect. It is

not difficult to make a beginning; it is far more taxing to sustain it. But the payoffs of sparing

just a little thought to where our waste goes, promise to make it worthwhile. Sometimes you see,

waste can kill.

72.

73.

One of the prime targets of environmentalists across the world non-biodegradable

plastic.

(A) are B) 1is

(C) was (D) were

We should carry cloth bag plastic bag.
(A) despite (B) inspite of

(C) instead of (D) as
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75.

76.

77.

78.

79.

80.

81.

82.

(45)
Common man media can play a significant role in this respect.
(A) whereas (B) but
(C) aswellas (D) though
Vegetable waste and tea leaves recycled into manure.
(A) was (B) is
(C) canbe (D) if
Small efforts can a big difference in reducing plastic waste.
(A) get (B) make
(C) made (D) take
The most suitable title for the passage is
(A) The urban life (B) Waste and media
(C) Waste management (D) Pollutants
In order to reduce plastic waste, plastic pouches can be by glass milk bottles.
(A) wused (B) replaced
(C) stored (D) none of these

i

“Slithery, slidery, scaly old snake.” (=¥
The literary device used in the above line is
(A) Simile (B) Metaphor
(C) Alliteration (D) Irony

The literary device present in the line “I am as quick as a cheetah”, is
(A) Satire (B) Alliteration
(C) Hyperbole (D) Simile

“Upon a nice mid-spring day

Let’s take a look at nature’s way

Breathe the scent of nice fresh air

Feel the breeze within your hair.”

The rhyme scheme of the above line is :

(A) AABB (B) ABAB
(C) AABA (D) ABAA

“All the little corn flakes were so excited,

They were getting to come out and play.”

What is personified in the above lines ?

(A) All (B) so excited
(C) corn flakes (D) All of these
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A mournful poem, typically a lament for the dead is called
(A) Drama (B) Comedy
(C) Sonnet (D) Elegy

The literary term used for a poem of fourteen lines using any of a number of formal rhyme
schemes is

(A) Short story (B) Sonnet
(C) Elegy (D) Allusion

“Who knows why the cold wind blows !”

The literary device used in the above line is

(A) Personification (B) Hyperbole
(C) Assonance (D) None of these

In the lines given below the literary device ‘Metaphor’ is used in
(A) Betty Botter bought some butter.

(B) Ascold as ice. EEE

(C) A host of golden daffodils. v

(D) Itis the east, and Juliet, the sun.

A genre of drama based on human suffering and, mainly, the terrible or sorrowful events
that befall main character is known as

(A) Tragedy (B) Comedy
(C) Irony (D) Autobiography

A ‘Fable’ is an example of

(A) Rhyme (B) Short story
(C) Sonnet (D) None of these
My father swim very fast when he was young.
(A) can (B) may

(C) could (D) must

Choose the alternative which best expresses the meaning of idiom/phrase given below :
“No Pain No Gain”

(A) You have to work for what you want.

(B) Wait for the right time.

(C) Take care of your pains.

(D) Do not harm others.
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61.

62.

63.

64.

65.

66.

67.

@7
g usg - 11
N - 11
FEpT
313 Foferq e | |
T JYAT: THTSRT: |
“HEIT: ... ot |” Ffaaue Feme™ g |
(A) Tom: (B) g
(C) wiEy (D) TSI
TTSITATTTERTER TR : HETq HEhNI W Hafd & 7
(A) STTETHEHRICH (B) hIM-AHEhRIcIH
(OMREEISEE ] (D) EHTEATEEHNI T
“FHEH ATV HUSHERIERTL I fepmfed 2
(A) Tefiafafe: (B) w&fafy:
(C) SATHT-IFATGTY: (D) feorzerumeHehfater:

‘AT dishaeler wiasfa e ferre gettwssr gof 7 wfesafa 17 & f=diven s
e Berg’ seafem qedes o faiflgay ?

(A) Tleages (B) ®UceHaea
(C) UTRHEIEA (D) HEAEEHEIEH
HEhAfTe i Sy TegeeTe frarehur Hiofian -

(A) USSR YAl I g (B) Tafau-wrfaferes -niafasimmmiemm
(C) T&haa: femgaesho, (D) higToregHmieiEgTy

A& WRETSha= (TTUTeh) |IEH aad -

(A) RIEETH (B) HeaEETH

(C) THFHHYTH (D) fepufa =
IEIYETHE WY <hIgefl &I ?

(A) TrerepTon FrraTgERyg (B) TEHMI IRTATTHRH

(C)  AferepTien Frrargars (D) STETHT IrIATERY



68.

69.

70.

71.

(48) PL-1
TR0 JeATg JeT: Haf=d —
(A) THIcHShT: (B) YIATHSI:
© [ERIEDE (D) W—ﬁﬁ:{:q&}: G gl:
TR &0 ITRHT HhIge Holq ?
(A) SEEUIHH (B) hTETHIH
(C) ATTHETIARY (D) IIHEREAUTHRY
TFEhd TG IHTITERISICTY Tl reh eIerd Tfed -
(A) TR (B)  WTHUThHISTTH
(C)  SIuTehIsIery (D) YSTHITAY

aeTEeTeEA™, STRIHI, [AHTI=RIT, GHTYAETRHT, JEIHTET TITehumy &: fafd: Suent
yafd ?

(A) AT (B) =&Y
(C) veaearafyy: (D) @A

FUNTARG SIS TR TR TeHT: (72-76) FHTET: —

72.

73.

74.

Y HiEHTZEd U™ T it Stae | SIRGATIEdT: o A=, Iq SFgIsiadTd, g SHeTd:
T T | 37d: TR T=oM: GHASHE 3id o= o F@R: ST ISR JTaa: |
T Teh: 98: WaH=: 98 Il feaafa o |

UGS AT S I Tawfad: ?

(A) g (B) =gt
(C) vl (D) W

“YTeddd:” 3T <b: T ¢

(A) FdIIITA: (B) dIFI:
(C) Tqye: (D) IFEYHE:

“foaml” a3 : IuE: ?
(A) T (B)
(C) 3| (D)

P 4
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75.  “gTigHIRdT:” ST Afutede: TTa -
(A) Ty + 3ugdn: (B) <Iiga+ 3U&am:
(C) I + FAE: (D) <G + =T

76. T Ueh: UB: W= T8 A0t et @ 1 30 e fomrsag oy 2
(A) @ (B) E:
(C) TH: (D) =

FrfaRad vettend 3TTaRished FTTRaT: AT : (77-81) SHISAT: -
HTAT TATHT S8 [Tk TG erd Tl
T Tferar fentformre: sfatapra: |
HEUTT GHARS-HATAdT =il gl Ty
ST fergure SRl qouTTq HusiEe ||

77. A veireh fob Bg: Wy ?
(A) STgaTeshifea (B) ag=ldetehl

(C) wrfer (D) #HeTshtl

78, oot oo | -ferebe: i -

(A) ot + fiegfa: + o (B) e + o

(C) e + ot (D) sffefit + ofy + o
79.  “HEU U4 %: GHAM: ?

(A) Teges: (B) wgsife:

(C) 3r=rRitvmE: (D) s

80. “BLI” 3T h: TIT: 7

(A) ¥q (B) d=q

(C) *9ag (D) 3=l
81. “HreA 397 forgmfea

(A) dfewsm (B) wiifergy

(C) TgHhicTEH (D) wafTgd,
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“378 &: e geanfiy | oo TEneR -
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(C) 3% &: Tomue vty | (D) 378 &: ToedeH 3Tawe |
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(B) 3" J[fI< II& < WarsT GU& J9aT |
(C) =TIITTHEI= & AHSS & War3™ fea3 4357 |
(D) Budaz3 AI It
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68. 3T fiiftmr fS9 AUTTEd o= TUT T8 AUG @ Adl de 9< ¢
(A) BaH, IFE (B) I8, 939
(C) 932, 5w (D) I, T3

69. &< 93774 T 9 YSIHI J96 TS W3J 6 A1 AT I

(A) dfscs 893 (B) »nfizretHay
(C) TI3EII (D) fsGn a3

70. “A3S S5 I fefanraen € feegg ufea3s & HeT &9 Yy & Hass 3 Gaa’ f fanfimr
35 <t Yfafanm § yaae afde 96 17 feg qus fan fegas 2 d -
(A) I=TE5 (B) 9I7E3 E5E

=

(C) »H=ele (D) T HA widt Okt

71. ISR TP TATISI I 3 fergayd=d &< 88 : - yas fan yditfmrarsyaT 3
(A) fegursfua udtfpu (B) =A3fors ydtfanr
(C) Vg ydihp (D) ot adt

(72-76) J& fed Ug U I YHG 699 723 76 ST < G339 el :

HIIHT & TaMit € 78 Wyt 159 €30 wy fadaft arfent & wirfeprm J | U9 widff »myE wfla <8
WIHS, USTTH 93 <9 »§ I J fed-gn § U35 "I &J1 I8 I7 | I29 & J2I3 &f EuTt vdy &
IfIe-AfgE War St | HEY & &7 I2I3 § THIT &7 AT § | 293 &8 8383 1 fonmad farrdnr
TTHYY J | 293 IHET It fenrars Ifddt 9, 7 B ford™H3T yETs Jaet J | 97T, ut 3T AS Hles =
WF IS | J2I3 &8 HI™ TH3T I8t 39 &t I Aaer | Hdla < Afae wadt <t <t /v T | faesft fea
T9 I fusdt I | 5997 = A9 feu I fa 78 983 Uy fies g3 28 Il I3, &1 3T 9N wiener
39wt M 3 ufosst ot gator® 3 99 39 AT |

72. ‘@3 gEe o feddt wEaw 9E
(A) HoH (B) feaw
(C) U==d (D) feaw

73. ‘SfonfT8’ T AHTE9ES HI< 9< ¢
(A) 9adt (B) for3
(C) wfI3=5 (D) 3913
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74. WS WS T IINIES A I ¢

(A) w33, Had (B) H3,3H
(C) u9q,fsa3 (D) fd3, miwe

75. 33’ Aue o f8ar 9usd .

(A) "I (B) <W3
(C) wAe (D) drgg @]
o
76. ‘IS HYL &' HILYS IS :
(A) a9 (B) I
(C) I& (D) 3w iUz

(77-80) I @8 fe-2S U I YHG 699 77 380 33 2§39 e : -
AEYEd €8 A< |
TS HI Sad A< |
o 8H s J 391 fee g,
A A AS A= |
IHH H3 UR S35,
YW AHS 72 |

77. Ffe-de figfan e dt st ur et T 2

(A) dush (B) dar
(C) §3 (D) T=Ehy
78. QUIFS Ffe-AITT ¢ yHd {9 far Yt -Yfiar = faag Ifenr J
(A) dg—gi3r (B) 33 —HAE
(C) wHT—Y$ (D) I<T-u39
79, SH HES I IET ?
(A) =39 (B) WeIdr
(C) #&3 (D) =fgH3

80. fegafe-feggfan afe-gue fdA s :
(A) st (B) =9
(C) FIBEHT (D) famr
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82.

83.

84.

8s.

86.

87.

88.

89.

90.

(62) PL-1
Yt s @9 €, o1, &, fad fAd =aa 75 ¢
(A) forias (B) d=Jdr et
(C) fonivs = (D) A3 TIA

‘B’ II6 $ TIGHST ¢ faH =Jq1 fIg =™ fanrm 3

(A) T=dar (B) &<I6=ddr
(€) <S<gar (D) Hy=ZIar
ELas
Freft g fenags fog fa Samig 06 2 (=7
(A) f3s B) &
(C) =w (D) Ut
3niygis dAfagraerd:
(A) TeRniyg (B) A3 A AUAS U3

(C) JB»iT (D) 5 nhig

TR-13, ¥FeT, B9, 9537, Hee Uardl & faadt Qusm a7 Hefu3 76

(A) HB=E (B) 3drdt

(C) Wt (D)

(A) Tfasa (B) Ua&dC

(C) =iz (D) WU

(A) YA, MHE= (B) fods Twd &<, HIT IS &2
(C) I=|IASE, HH G (D) TAZ-THI B, UTH 2

93 HEE § &< 7o of §1 I913T A< UJ &8 Jf GF & Jet Ug-fdig ISt A<, S uzas= §
FfITI&

(A) FEISHI YIS (B) forsegauzae

(C) YIUTHI U&= (D) YHESHA YIS

fros wee fan a2 77 ugsie mee f fHedt T famrs o= G ferme g fagr wier J
(A) JUfgHe=9d ferme (B) yvIa<femme
(C) wimed fenme (D) forue<a fenme

Yrret g 29 ferfua fam Jug €3 fegae I5 -
(A) HESUUI 3 (B) TIHYTTI
(C) Bu=aiug3 (D) Suda3 f3&TUuat3
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61.

62.

63.

64.

65.

66.

(63)

s — 11T
CSIETES |
eyl

L VLSHL §EL 30 UHLE.
€38 UL oy alod AL 5 [ov1d 9.

565 BARAA AULNSHL “UH YAl BHR” 5 WL ALOAUHL 2L © ¢

(A) AU AR (B)  olledlaR2ll

(C) dReURAL (D) ¥l

Al2AArHi] 52 AULHA ERA- U AULHA 6 ¢

(A) 5¥eR (B) 2uRSLER

(C) ALY (D) WEAYRS

UL HEAUIS HIZ GuA] Al 8.

(A) SHHMES (B) lgdyrds

(C) GuRwA (D) ([RHRieA 2

A2l UL UlsA YRS, Q1L 53 6 ¢ EL5E
=5

(A) ety 2d{A Slg et

(B)  [Azn2llAlAl AHov 2ol [Asi1 52 ddl WgHsH.
(C)  [AzuellRAlA 2481l @Ml HeE3 W A dd,

(D) gAY Glnsl CIHL RS dd,

(RatslL $UL 211 GlLULsA 2ALEL HIAL ol dRg EIRL MU ¢
(A)  AUHYsAl (B) Adwikl
(C) ydue (D) Jatdld

ARl 56 g ldAl GuAdL 5L [RBARL 12 SAML A & ¢
(A)  suAARL gl (B) ual<R wsld
(C) v wgld (D) 2ARMA- [ vgld



67.

68.

69.

70.

71.

(64) PL-1

slRL uRlets sALLAL GRL USIRE, WL WRRIH 63 dvid AL Adl HOL dl d 3l 54121 sl
ASIAL ?

(A) A0 SARL (B) ARl &AL
(€) [l 5112l (D) cHeedl sadiel

Sl USIRAL UAHIAL ovedlod Ass| el [l UHIIeddL 24 QURSRUAL vl 3¢ 6 9
(A) 25l BR UsR (B) daqeladl uall
(C)  [Aotacus usll (D) GuRlsd ™

ARl QLA 2AlGALeAL AL SLAL UL AL 21 ?
(A) [Hotn (B) dlcHsal
(C)  idalld avi (D) uElHL

ULOUHL MARL HOAL ol [AeuiellA anld B2ell Rifg el 531 6 d sallddl U 2] sdad ¢
(A) WA (B) Rloylall
(C) ddd (D) st

GLMLAL 21061, g BRRARGL S 2k oL 12 WOUSEURA 58 A¢ 4e41RAS Ui ALY S8 ¢
(A)  dsqed 2l (B) [Aola @uir
(C) Ad@uid (D) =idls

E5E

o

=]

ARAAL ILELULLAL AR U U AL 72 2l T4l oy edlol ML

GrRRURAL AL, AP 1A A%, Alds s UdA A MU B, GRIRIRA rsHOMIL €R sR41-L

3R €, ol HIZ UHIY MU Al 3R 6. UEL 24 WHUBLS Hyeltrl HeTed 24U MDA, HAdAAL o
Rl2cl HoddlAl €2 U5 53l WS, GIRIRAURA AAAL HI2 585 SRAELAL BSAML AL A DA 555161
e A, SRIRURIA BUSRIHL 24153 140 A dl o ASL BRIUR $3cll S UL A[RAURL 22 2us€U

e WAL o 2 oAl
72, arwiRRedl AP S Rl 2 © 9
(A) AR SREL A . (B) Al [Asi4 2w 8.
(C)  RUyrf M AR &, (D) R0, Alds ud 04 9.
73, ‘Ased’ LA gl sl
(A) U+ 564 (B) UM+ 5¢4

(C) U+ 56U (D) A+ 564
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74, GuzAL el ARl 3 *llMs 2l usiA ¢

(A) GRIUR GRLEL (B) GRIAUR ULl
(C) GIRIRUR Q| (D) UGS M-

75. UG SO AL S CUE 77 AU USRA UIAH S ¢
(A)  AUUS UM (B)  UN&L U
(C) AR A (D) &2ls A

76. ‘Al 22l 2R A el ol disHL [l ARl s34 ¢
(A) dwel (B) 2{UR
(C) =Ael (D) ol

77, GuR, I, 4%, &2, AR DR 20E AL BALlAANRUALE ¢
(A) RUARS (B) =llaars
(C)  AUHAURS (D) MRS

78. A=Al 52U D15 AoEA BURWT ALEL S 9
(A) dzsld (B) RId=l
(C) Uesl (D) wxlks

79. ARl 565 UsL ASAUAHL o WANU S ?
A)  arwll (B) slalldlel
(C) A (D) Al

80.  GUMIHL%2ES UACELIHL ARIEM YUAAL HI2 LuRIAL Rigr L s8¢
(A) e[RRI (B) ARl [Rugrt
©) lr™ (D) did [Rugr

81. ‘Al €L ol ML d dril Bl 2L GASIR IRL" AlSAHL BAUAL USIR vl
(A)  Gorural 2 (B) 301 WALl 4
(C) AR 2 (D) 20U A

82. “Zlel el oiul 52 .7 clsaeAl AR sALUSR 6 9
(A)  [Avael as (B) Ryl s
(C) >ustiel dlsd (D) uzed s

83. ‘clldR’ 2osAl g derRidl el Aol s & ¢
(A) Rl (B) sl
(C) AR (D) AR

OfH0)
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8s.

86.

87.

88.

89.

90.

(66)

A2 AL MU AR WA AL 84 20l 85 ell-l GiR @vl -
&9 HORL A 9k HOL,
AlE HidiAl sl ¢
UAAVLS L LA HNRL,
AL HidAl sl ¢
R2ll HORL, 2ASLHO, 5
Rt HIAl sl ¢ [=0¥
UlE, YR A dARLHOAL,
AL AL 5L ¢
AR, dld A W(ld HOe,
2§51 HIAL UL ¢
OllR BIH2 W, &aril
Sell Hil sl ¢

HlllAL 2§51 IR Sl [l 42 ¢

(A) R, dia, Wila-l (B) 15 ¢ ¢lul
(C) Rl gl (D) Uls 24 YRyl
‘R G2 W, Sarl Sell HiAdl UL ¢ AlsUHL HE 2U0E SULUSRALE ¢
(A)  ded¥ (B) dgaid

(C) =2Roil (D) sR:l

R, Al UL WAL ACEL Bl USIRAL AR UL 6 ?

(A)  Geruril (B) 2osdpll

(C) $an wAdll (D) [Bauldmel s
A2l 53 uRotn e (s uR A2l e 2R KRS 9

(A) agdil (B)  dldlarEl

(C) [aall 2isz01 (D) A0

22U L B A dAL 8.

A) Rienaw (B) Rl

(C) ¥al (D) Een

©lREL 1 2l SHL slex [R1z16L Hi2 58 wgld 450016l s ¢

(A) fla-sHet vgld (B) ol ugld

(C) qe-iugld (D) su wgld

visHl [QenelRAA HicdlRd sl HIZ 5L Slated-Al Gulal s90L ¢
(A) Yeélsrulslaey (B) [awaulerpu slue
(C)  watuallddl slaed (D) SLML 5laled
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91.

92.

93.

(67) B

SECTION-1V / €Ug -1V

MATHEMATICS /7ot

There are 30 questions in all in this section.
All questions are compulsory.

34 GUs | 5t 30 TH E | EE
aft v e € | LA
The difference of simple interest for 2 years and 3 years on a sum of ¥ 2,100 at 8% per
annum is
(A) X336 (B) T 168
(C) % 1,680 (D) X504

32,100 [T TH 8% TTTeh oh! X 2 I 37X 3 I <h T ST T 7= BT —

(A) 336 (B) 168
(C) 1,680 (D) T504

A bicycle is purchased for X 1,800 and is sold at a profit of 12%. Its selling price is

(A) % 1,584 (B) %2,016
(C) %1,788 (D) 1,812
TS TTEfehat T 1,800 T GGt 12% o W Sl 775 a1 35ehT forshal e & —
(A) T1,584 (B) 2,016
(C) %1,788 (D) %1812

What will be the amount received on I 3,000 for 2 years given at the simple rate of

interest 11% per annum ?

(A) 2,340 (B) 3,660

(C) 4,320 (D) 3,330

% 3,000 TR 2 99 o TAT 11% <hT ATfYeh HTEROT AT o & Teha1 Gerist e gRf 2

(A) 2,340 (B) % 3,660
(C) T4320 (D) 3,330
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94, If 1 m? =x mm?, then the value of x is

(A) 10000 (B) 1000
(C) 100000 (D) 1000000
Ffe 1 ol et = x o fyefifiet arar 8, A x HT oA 2
(A) 10000 (B) 1000

(C) 100000 (D) 1000000

95. In the given figure, the value of a is

A C
90°
Be< >E
40° S5a
F D
(A) 5° (B) 10°
(C) 20° (D) 50°
fevmu g asmiam g :
A C
90°
B< >E
40° S5a
F D
(A) 5° (B) 10°

©) 20° (D) 50°

(=g 0wl

PL-1
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96.

97.

(69)

Find the volume of the given figure.

3y
y
2y
(A) oy (B) 6y
(©) 22y? (D) 9y>
@ TS THT T I 14 HIRT |
3y
y
2y
(A) 6y (B) 6y’
(©) 22y? (D) 9y?

15 m? is the area of

(A) A square having side 15 m
=

= e 1

(B) 3 squares having side 5 m each mw
(C) 5 squares having side 3 m each

(D) 15 squares having side 1 m each
15 o et &6 2

(A) T Tt fEeht e 15 HieX 2 |

(B) 3 &t frEeht yeeh <l =TT 5 HieX ® |
(C) 5ot feehl Tedieh 1 9olT 3 Hiet 2 |
(D) 15 3 e g i et 1 et ® |
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98. RICE is a rhombus. Find the perimeter of the rhombus according to the given

measurement.
C
12
E 5 x+2 I
xty
R E5E
(A) 20 (B) 28 2y
(C) 52 (D) 68
RICE U §9=gHS & | 3Tehfd H T 7T 1Y < YR 9 FHAGHS 1 I $1d HIfT |
C
12
E 5 x+2 I
xity
R
(A) 20 (B) 28
(C) 52 (D) 68

99. “Music is a modern secret exercise of the subconscious mind of a human being related to
the numbers of arithmetic.” This statement is related to which value of mathematics ?

(A) Intellectual value (B) Cultural value
(C) Artistic value (D) Social value

“Fftd A o T T T SR <l T & Traf-ad T STYHH T« A=W 8 |7 T8
U TIOT o fohdl Mo & Frafra 7 2

(A) g e (B) Wi Ted

(C) HATHS I (D) | qod
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100.

101.

(71)

Which method is based on the principle of “To observe and learn” ?
(A) Inductive method
(B) Programmed Instruction method

(C) Laboratory method
ESE

a 1

(D) None of these Of

“frlieqor 01 S HrEr o g W i € fafy e & 7
(A) e fafy

(B) Afishiid tqeeH fafy

(C) TS fafer

(D) T 4 IS Tl

“Mathematics is a mirror of civilization and culture.” Who gave this statement ?
(A) Locke (B) Galileo

(C) Hogben (D) Roger Bacon

“TTfOTA HY2rdT T HEScl <l UV & |” A e fehe T

(A) <M (B) Tiefiferan

(C) ®ieH (D) TSR S
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102.

103.

(72) PL-1

The purpose of diagnostic testing is

(A) To find out the efficiency of the teacher.

(B) Developing different skills of children.

(C) To improve teaching and learning process in mathematics subject.

(D) To examine the suitability of teaching methods.

TaTTesh TlieTuT o1 38w B — Em
(A) Torers Y HrRIHICTAT T IdT AT |

(B) TeThi o fofer= hieredt <l forehret T |

(C) TIfora forr shi 37=H W ST Ulshan § FER T |

(D) Toreqor fafert <At Suzgerar 1 Sire T |

Which system is not applicable for mathematics teaching through playway at primary

level ?
(A) Montessori (B) Kindergarten
(C) Dalton (D) Lecture

TTerfireh TR W Eel-Tel | T 376301 S o foTe i Tt e on] & gt g ?
(A) wiewd (B) fhewmea

(C) Sl (D) =
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104. Slide rule is used in Mathematics for

(A) Multiplication and division

(B) Angle measurement

(C) Make the shape smaller and larger

(D) Measurement of angle of elevation
T T ITSE Tt T ITFNT BT &

(A) T T HISH 3 fo1g

(B) i1 A9 & fotw

(C) 3TThId I BT d TSI T & [T

(D) 314 I ATI % fetw

105. The best appropriate method for teaching the area of a circle is
(A) Inductive method
(B) Deductive method
(C) Lecture method
(D) Laboratory method

I T A TG hi Tad Iugad farfer & —
(A) AT fafy
(B) = fafe
(C) = fafy

(D) ST fafer
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106.

107.

108.

(74) PL-1

The word ‘Curriculum’ is taken from which language ?

(A) German (B) Latin
(C) Arabic (D) None of these
12 “artigem” form T & o T R 7

(A) SHA (B) e

(€) 3wsht (D) T § IS T

Making tables in Mathematics comes under which specific objective ?

(A) Skill (B) Application

(C) Understanding (D) Knowledge

Trford o Groft ST foRd ety 389 o 3tia AT B 7

(A) et B) FTEAT gy
©) W (D) T e

Which of the following statement is not related to nature of Mathematics ?
(A) Abstract elements are explained in Mathematics.

(B) Area of generalization is limited in Mathematics.

(C) Mathematics is a universal subject.

(D) Number, places, measurement etc. are the basis of Mathematics.

o & & i |1 e T < wehfa & TR T R
(A) T & 37 Tt <t s Y AT R |

(B) TIfOra A=A 1 & i # |

(C) TifUra ush Graiifies fowar 2 |

(D) AN, T, A ScdTfe 10T o 3TN # |
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109. Make a greatest and smallest number by using digits 2, 5, 7 and 8. Then find difference of

both the numbers. Then from which of the following number this difference is not divisible ?
(A) 2 B) 3

© 5 (D) 9

31 2, 5, 7 3R 8 I ITAM HId T T I 9 TG B T&AT T | 376 4 g1 q@nadi
T ST A SHITC, | FaTed fob I8 3= 1 1 4 Topg T & fawrfora 78 g g 2

(A) 2 B) 3
5
© 3 D) 9 Ol

110. In which of the following alternative 500 is not the place value of 5 ?
(A) 2569 (B) 6529
(©) 9256 (D) 9562

o A fowea § S w1 SIFF HE S00 & & 7

(A) 2569 (B) 6529

(C) 9256 (D) 9562

111. Which is the correct numeric form of “Ten lacs twenty thousand three hundred five” ?
(A) 1020305 (B) 1200305
(C) 10200305 (D) 12200305

‘T8 WRg 19 &R 19 G uT=’ <1 98l 3Aifehsh ®9 @

(A) 1020305 (B) 1200305

(C) 10200305 (D) 12200305
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112.

113.

114.

(76)
How many Prime Numbers lie between 1 to 30 ?
(A) 8 B) 9
(©) 10 (D) 11
1 & 30 % &=t fepat s1Tse Heamd omreft & 7

(A) 8 (B) 9
(€ 10 (D) 11
ki
Which of the following ratio is greatest ? [=I¥
7 25
(A) 3 B) =
35 19
© 5 D) &
=1 5 | 9 |1 31T qed S R ?
7 25
(A) 3 B) =
35 19
© o D) >

Which of the following is the correct descending order of fraction ?

3122 3
© 3753 D)

PL-1
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115.

116.

117.

(77

LCM of any two numbers is 60 and HCF of them is 5. Which of the following are those

numbers ?
(A) 20,30 (B) 10,30
(C) 15,20 (D) 15,40

foregl €1 T3t %1 gAY auTIEdl 60 § T4 Hgdad J9I9edeh 5 8, a MEfiad § | 98

gEaTd s € 8 2
(A) 20,30 (B) 10,30  mgm

-

(C) 15,20 (D) 15,40

If a Consequent of ratio 5 : 7 is 35, then what will be Antecedent ?
(A) 25 (B) 36

(C) 45 (D) 49

Jfe Teh IFUTT 5 : 7 1 TS 35 7, A IHehT GIUS 1 &N 7

(A) 25 (B) 36

©) 45 (D) 49

Which of the following is the correct Prime factors of number 420 ?
(A) 2x2x7x15 (B) 2x2x5x21
(C) 2x6x5x7 (D) 2x2x3x5x%x7

frafafaa & @ = a1 5@ 420 H1 TE 39T UHETE | 7

(A) 2x2x7x15 (B) 2x2x5x21

(C) 2x6x5x7 (D) 2x2x3x5x7
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119.

120.

(78) PL-1
On selling an article for ¥ 329, a dealer lost 6%. The cost price of the article is
(A) 31037 (B) 348.74
(€) 335 (D) 350

3 329 ¥ U I I ST T Th SR I 6% hl BT TS, 1 g 1 363 Tod 1 & 7

(A) %310.37 (B) ¥ 348.74

(C) 335 (D) %350

Average of three numbers is 40. If average of two of them is 38, find the third number.

(A) 38 (B) 40 E5E

s
© 4 (D) 44

T T BT 3T 40 B | Al 370 T S GEAT3 T 314 38 7, A & T gt

(A) 38 (B) 40

© 42 (D) 44

4 men can complete a work in 20 days, then 10 men will complete the same work in how

many days ?
(A) 2 days (B) 8 days
(C) 12 days (D) 50 days

4 3TTCH} T S 1 20 Te | 90 L &, al 10 TTeHT 36t % i feha T & 90 1 2
A) 2fe (B) 8fe

€) 12f= (D) 50T
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121.

122.

123.

(79)
SECTION-V /@Usg -V

ENVIRONMENTAL STUDIES / SIS0l 3183

There are 30 questions in all in this section.

All questions are compulsory.
TGS T HA 30 TH B |
¥t T ATER € |

Crocodile belongs to which class of Animal Kingdom ?

(A) Aves (B) Reptilia

(C) Amphibia (D) Pisces

RS, JToft STd o ferd Geri 1 8 7

(A) ueft (B) wgy

(C) VoI (D) W mm

Suncity is the name of

(A) Jaipur (B) Jaisalmer
(C) Barmer (D) Jodhpur
I fopehT A 7 7

(A) SR (B) SEeTR
(C) aTEH (D) SR

When was Namami Gange Project launched ?

(A) 2011 (B) 2012
(C) 2013 (D) 2014
FETTY T ST b1 I[URY e fohar TR o ?
(A) 2011 (B) 2012

(C©) 2013 (D) 2014
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124. Match the following and choose the correct option :

Hormone

(i)  Growth hormone

(i) Insulin

(i) Testosterone

(iv) Progesterone

(i)
(A) (©
® @
© ()
(D) (@

(i)
(2)
(b)
(d)
(©)

(b)

(©)

(d)
(iii)
(d)
(©)
(a)
(b)

Function
Regulation of sexual characteristics in male
Stimulates growth in organs
Regulation of sexual characteristics in female

Regulation of blood sugar level

(iv)
(b)
(d)
© S
(a)

freferiaa i gafad ot quT 98 forehed w1 = & -

LIS
(i) Fre T
(ii) ¥l
(iii) TR
(iv) TSl

(1) (i)
(A) (o) (a)
B) (@ (b)
(€) (b) (d)
D) (@ (c)

Eag|

T H <ifieh &on 1
31 # gfg fea e
HTET H AfiTeh AU <hl e
TR Ik T T e
(iii) (iv)

(d) (b)

(c) (d)

(a) (c)

(b) (a)
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125.

126.

127.

@81

What is the main reason for the difficulty in breathing while mountaineering ?

(A) Steep slopes (B) Extreme cold weather
(C) Low air pressure (D) Icy wind

TSTRIEYT o G T8 o T ShiSHTS i J&T HI0T & -

(A) T edH (B) 3rcferh g1 Wem

(C) A ICE (D) whieh ga CIkiC

Which of the following come under the abiotic component of the environment ?
(A) Plant (B) Air

(C) Animal (D) Bacteria

Frfeiaa o @ s qaTeroT 3 ST T2 o 3T 37d & 7

(A) UCd (B) 9

(C) ¥4 (D) Sftamy

When is special discount provided on the price of the clothes made up of Khadi ?
(A) 26 January (B) 2 October

(C) 21 June (D) 5 September

ATl 5 T ) i TR e e € S 2 7

(A) 26 S (B) 2 3RS

(C) 213 (D) 5 foamr
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128. Which alkaloid is found in the tobacco ?

(A) Cocaine

(C) Nicotine

(B)
(D)

AT T <hIF T Yeohel1sS UTIT ST 8 7

(A) i

€) T=pifem

129. Rabies disease is caused by
(A) Virus
(C) Bacteria

Y&l T T S BT 2
(A) d™E™

(C) SFifEn

(B)

(D)

(B)
(D)

(B)

(D)

Caffeine

Morphine

HihH Ol

Protozoa

Mycoplasma

TSI

HIZhIATH]

130. Which of the following is the food of Silkworm ?

(A) Mulberry leaves

(C) Neem leaves

(B)
(D)

Jamun leaves

Mango leaves

freferfea § 9 Wwmehle w WS A AT R ?

(A) wTEqq i afaat

(C) ~fm i afaat

(B)

ST <t afe

(D) 3™ i gt

PL-1
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131.

132.

(83)

Example of fibre which is obtained from animal.

(A) Cotton (B) Polyester
(C) Nylon (D) Silk

S T T 131 <1 3T &

(A) UH (B) Uifee&et
(C) A (D) wTm

Which of the following is not a human source of water pollution ?
(A) Domestic effluent
(B) Sewage

(C) Industrial effluent

(D) Humus matter

freferfad & i o1 STt ST <1 ATt S T R 7
(A) = oe @

(B) dfgaier

(C) 3frenfires sfg-@ma

(D) e uere
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133. Example of Rabi crop is

(A) Maize (B) Soyabean
(C) Groundnut (D) Flax
Tt Sl HHeT T IETEAT B

(A) W=l (B) HHTE
(C) el (D) e

134. What is the main object (aim) of evaluation ?
(A) Maintain discipline
(B) Conduct examination mw
(C) Question paper setting

(D) Learner’s performance and improvement
oo 1 &7 398 T8 ?

(A)  STRTEA ST

(B) et ST

(C) TRAYA AT

(D) iirTeRat Y Iuctfe T GUR @M1
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135.

136.

137.

(85)
In ancient times messages were communicated by which medium ?
(A) Fax (B) Mobile
(C) Messengers (D) Telephone
TR H HRT ol TR hiH & AT & grar o7 ?
(A) S (B) Hiamger

(C) TR (D) Jefi®m

An example of Audio-Visual Teaching Learning Aid is

(A) Radio (B) Tape-Recorder
(C) Bulletin Board (D) Television

L
2T — 599 Trequr—3tferT Trmft <61 3Te B Y
(A) U= (B) 3u-TGhret
(©) wtfeare (D) eefifers

Which element is not present in child centered education ?

(A) Play (B) Inactivity
(C) Inspiration (D) Satisfaction
STl shiwga & o i &1 el T8 g g ?

(A) @ B) TS

(C) T (D) AN
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138. Fuldol fair is held at
(A) Ajmer
(B) Jaisalmer
(C) Shahpura

(D) Alwar
RS I WAl hal Tl & ?
(A) 3T

(B) SHTR

(C) =m=gy

(D) 3R e

139. How will you be related to your father’s brother-in-law’s mother ?
(A) Mami (B) Nani
(C) Mausi (D) Sister
3Tk TUATST o ATl shl AT § JATIRT AT FdT & ?

(A) HmH (B)

(C) it (D) W&
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140. Following traffic sign indicates —

iz

(A) Cross-road (B) Pedestrian crossing

(C) Railway crossing (D) Narrow bridge
= feam e AT Hehd ST LAl & —

iz

(A) <RTET (B) Uedd YR 9y
(C) Y shiter (D) & gfera

141. Our National Calendar is

(A) Jana-gana-mana (B) Vande Mataram
(C) Shivira Calendar (D) National Saka
BHR U =T 2 -

(A) SH-TOT-TH (B) ¢ HTaw, g&g
(C) Torfer =am (D) TS Ih =

142. Which of the following is the nearest planet to the Sun ?

(A) Jupiter (B) Earth
(C) Mercury (D) Mars
frrrferfia & & 2 1 G 1 P TR R 7

(A) e (B) T

(C) T4 (D) =T
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143. Choose the right group for means of transport by roadways :
(A) Jeep, Scooter, Boat (B) Cycle, Car, Jet

(C) Bus, Truck, e-rickshaw (D) Bullock-cart, Camel-cart, Flying car

TS WA ATATAT o U1 b He TG i G :
(A) S, T, T (B) ©T3fhet, B, S
(C) =9, g, 3-Temm (D) STETIE!, HeMEl, FATET HR

144. Which disease results into low platelet count in the blood ?
(A) Chicken pox (B) Diabetes
(C) Amoebiasis (D) Dengue ESE

Tore TRT o HROT T B wideicd ! 6% A 81 AT 8 7
(A) o o (B) WYHE

(C) orfiamefim (D) <7

145. Which Lok Devta in Rajasthan is related to obsecration of Lachha Gujri ?
(A) Gogaji (B) Ramdevji
(C) Pabuji (D) Tejaji
TSR § b § SAieh qadl o1 H8e TS ol I M F 8 7
(A) TS (B) THeaS

(C) resft (D) TSt
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146.

147.

148.

(89) B

Where Sonar fort is situated ?

(A) Jaisalmer (B) Jaipur
(C) Bharatpur (D) Rajsamand
| gl el T @ 2
(A) SHR (B) SEAX
: i
(C) AR (D) TS O}

For which community of Rajasthan conservation of forest and wildlife has become a part of

their religious tenet ?
(A) Gurjar (B) Sahariya
(C) Bishnois (D) Meena

TSR o i & TSR % foTT 97 Td F=IsToft TRET0r 3eh ©Tfiieh BT T T &7 7T & 7
(A) TR (B) wefen

(C) forg (D) o

Which of the following is known as ‘Manchester’ of Rajasthan ?
(A) Jaipur (B) Bhilwara
(C) Nagaur (D) Beawar

Treaferiaa o 9 foraen! U™ 1 ‘Tt hal A1 g ?

(A) SEL (B) fietaer

(C) HTR (D) &R
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149. Select Jayanti from the following, which is celebrated on the 13™ day of the rising moon of

Chaitra.
(A) Mahaveer Jayanti
(B) Gandhi Jayanti
(C) Ambedkar Jayanti

(D) Hanuman Jayanti

frefafaa 9 @ o5 st g, S T = 98 i 3t var 6t o & fo 7arg 9t 2 |

(A) TEER SRt
(B)  Tiieft St

CIkC]
(C) 3T=gHT FAAT m
(D) IR S

150. The name of an age-old concept of water harvesting in Himachal Pradesh is —

(A) Surangams (B) Kattas

(C) Kulhs (D) Eris
TeuTaret I § STt THEv <ht G Feheu T I AT § -
(A) o™ (B) e

(C) Few (D) TE
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INSTRUCTIONS / fdar
(Read carefully and comply / &9 & 9§ 3R el &%)
IMPORTANT / He@qut

In Section II (Language-I) a candidate has to attempt the questions of the language which the candidate has selected as Language-1 in the
Online Application Form.
Gug [1 (WO 1) | ST A7 & U 1 T A1 arferandt @ 5@ 9 o1 w@w sregedf 3 9w [ % 9 § st saed-ua § faar €
In Section III (Language-II) a candidate has to attempt the questions of the language which the candidate has selected as Language-II in
the Online Apphcatlon Form The Lan uage- H w1ll be different from Language-1.
gug 11 (Wrwr-11) § % 5@ 9 &1 wEa s ¥ WIE-11 % ' # Ao snded-uw | fean g
ATST-11 ATET-1 & ﬁm gﬁTﬁ [
The candidate must ensure that the Question Booklet Series Code and Shift No. has been filled correctly at the prescribed place
in the OMR Answer Sheet. Your OMR Answer Sheet will be evaluated on the basis of Question Booklet Series Code and Shift No.,
g‘g;%uestmn Booklet Number.

f&F OMR sfte % fgiRa @@ w vw- WS @e @ e &, 99 90 R | it OMR sfie w1 AR
- THATh TR T Sfeh FI-GIRTHT ARV HIS T 1% . & MMER R fovar smamm |

10.

11.

Read complete instructions carefully and fill the details from S1. No. 1 to 7 in the OMR Answer Sheet and Sl1. No. 1 to 4 in the Question
Booklet. If you fail to fill the details and sign as instructed correctly, you will be personally responsible for the consequences arising
o S Yy o e e & 7 7% OMR sfre 3 e (g o | SN
N ShHTSR 1 § 7 d5 MMC T hHTSH | ¥ 4 Tqh U - | AT Tad
%wﬁmmmm%aﬁOMRaﬁzaﬁﬁﬁW%Wﬁ@ﬁa@W% IR B |
The Question Booklet comprises 96 pages having 150 questions. After being instructed to open the Booklet only then the candidates will
open the Question Booklet seals. Check whether the Booklet contains 150 questions starting from Page No. 3 to 90. The Shift Number
required in QMR Sheet will be as per admit card issued to the candidate and also mentioned on the top of the Questlon Booklet.
srs‘rr—gh?——mﬁ%ngalsom‘—r | et ey o I & SuTra € weA-giedeRt 1 61 @ie | a8 gidiead o o foh e -gfedent
T 150 99 T W1 o UY GEAT 3 | UIEW SRR 90 Ok € | STHAIK sﬁzwﬁmwawzﬁﬁaﬁrﬁﬁa TAY-TA & HATEIR ATkl BeAT
%Qaaﬁua?—g%m%wﬁmmﬁaﬁm%mgm% |
All questions are of MCQ (Multiple Choice Question) type. There is only one correct answer to each question carrying one mark.
There will be no negative marking for wrong answers,
a‘sﬁsrsaa'g&wrﬁnm%% | Tk W T U Terehed €1 @1 @ | Wcdieh Mg o fesd Trerffi sien @b © | Tosa Starmer o Tl smortenes o it fed sy |
All questions other than language questions of Sections II and III shall be bilingual.
TH-UA & HINT Gt @8 11 QI 111 & 9T o Afaiead AN a9t guet & we fgwrda g |
In any event of any mistake in any question/s, candidates will not be penalized. However no corrections will be made in question/s during
the exammatlon
ToRElt e ¥ TRt FfE % Tord atemedl b1 forelt R o1 T €1 B | oRIeTT it srafy 3 Al # ferw e ST Hele Tl e S |
Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Booklet. Do not tear it off from the
uestion Booklet. No additional paper shall be prov1ded
TERTR o TF T4 B W -JIETehT o 317 § S1TE o1 T € | 58 T -GfRent & 7181 s, | et wehm a1 srfrfie st Soessy 1€t sheama S |
Use of Log tables, Calculator, Slide rule, Mobile phone, Pager, Digital diary, Bluetooth, Microphone or any other electronic item/instru-
menté;t%:' is not allowed., Their use will result in dlsquahﬁcatlon fott y .
%W%ZT EE &G RIE] 555 , fesiies © EI(' g, HIShIHIE AT AT YR hl 3@5@; “Teh JIHTIT Eal
aﬁ%%lsﬂﬁwﬁwwuﬁmﬁmaﬁﬁﬁ fepar < e 2 | . ™
OMR Answer Sheet will be provided along with Question Booklet separately.
OMR sfie 9sA-gfeast & arer afaikad wqe 6t s |
The Question Booklet will be issued to the candidates 10 minutes before the start of examination and the candidate must fill all entries in
OMR Answer Sheet. The Question Booklet seal shall be opened 5 minutes before the start of examination and the candidate must fill 1 to
4 entries correctly on the Question Booklet. After opening the Question Booklet, ensure that any page / question is not missing / not
printed / torn / repeated. In case, you find any defect anywhere in the Question Booklet, immediately inform the Invigilator and get it
replaced within 5 minutes by the Invigilator. Warning Bell will ring at 5 minutes before closer of examination and the last long bell will
ring at closer of examination.

AT AT T -G RART T @ﬁ%loﬁﬂzqﬁ?ﬁaﬁ?ﬁ|atwﬁmawmﬁ0MRaﬁzﬁHﬁuﬁ%maﬁaﬁwﬁﬁl
TA-YRaT hI T THET AR F 5 Gl a1 S Ee 1 ¥ 4 HT el THR § W | T-EqThT Gied & 9=
L

£l I;rﬁﬁ?ﬁ
Rt et ag giieaa w1 fn Wﬁwtﬁvww%/ﬁémﬂ m@%/mwﬁﬁ% FIER )
g—sw%laﬁqw H 3 JFR aﬁ’%gf%tr@am"} 2 q1 achrd aﬁ amsﬁﬂz%%ﬁﬁ'{ wﬁaﬁqwggg
IERICEI e wﬁ% * 5 e SR Ud Sfram st Hel URie St

erte your Name, Exam Center Code, Slgnature Roll No., Question Booklet Series Code, Shift Number and Question Paper Booklet
Number in the space provided in the Questlon Booklet as well as in the OMR Answer Sheet
e -gTEqeT gOMR sfie R gt T W T, WiET % B e, TEER, AW, W9 -gedE €Ris S, frEe s vd we gieqe
TS Ifha |
With each question you will find 4 possible answers marked by the letters A, B, C & D. Read each question carefully and find out which
answer, according to you is correct. Indicate your answer by darkening the appropriate circle completely in the OMR Answer Sheet
correspondmg to the question. For marking answers use blue/black ballpoint pen only. Gel pens/pencils are not allowed.

W9 % IR AR I A, B,CADH m}$| TS ST Te.d Tl IR I 997 I I8 Ik B OMR 2ffe 3 Tl A 71
TR I TS T TERT 3 ZAIA | IR B G 3 13 1 AT HT a7 @1 U HT 1 ST R | A I A1 AR 1 ST Aok & |

Correct Method : Wrong Method :
CORRECT / w&t g WRONG / TTetet WRONG /e WRONG /e WRONG / e
T R TR

O0OCe| ™™ ROOO||loQ00o||00O0O||Ce0 @

OMR Answer Sheet is designed for computer evaluation. If you do not follow the instructions given above and at the backside of the
OMR Answer Sheet, it may make evaluation by computer difficult. Any resultant loss to the candidate on the above account shall be of

the candidate only.
OMR <ffe i FFeR FRI AT o fordl s a2 Mﬁ'msﬂg[aaanMRsﬁz%ﬁ@%quﬁﬁ@ﬁéaﬁwwﬁw M FTR

GIRT ATIRT AT hiSA T AT | 36 HRO & TAET Bl S a0 JHaT ) [SHgRT Sadh! @d & el |

No candidate should leave the examination hall before the final bell. The OMR Answer Sheet is carbonless in duplicate having
perforation on the left side. Candidate should detach carefully the Original Copy from the Candidate’s Copy (Duplicate) so that the
Original Copy is not mutilated in any way. Candidate should handover the Original OMR Copy and Question Booklet to the invigilator
before leaving the examination hall. Candidate can carry only the Candidate’s OMR copy with him/her. Question Booklet is not

allowed to be taken by the candidate.
et stfam et ae qﬁmmﬂﬁwa‘émﬂ%ﬂlOMRsﬁEW&a 343’%&1 I A} TE TERIT

%mgm%wtwaﬁwaﬁﬁqgwaﬁéﬁﬁﬁ(aj%ﬁ)ﬁﬂy @Wiﬁ(ﬁrﬁﬁﬂ"ﬂﬁ uﬁaﬁﬁégﬁ |
TeT-He Bied & I dwdf OMR $T 9et Ui vd we-gfeasr dieres o €9 g | vl Hae st O TfT B 1o AT o ST a |
TeT-gfe srvadff s wr T o W e






